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9:00 1| ®BE vs HEF B | 2 [7a0vv7 VS EA Wy | 3 [URsz VS =T UK

9:35 7| FEA vs BRIL | 5% | 8 | FEF vs mHEMB| HZ | 9 [ HEEA vs XM | X

10:10 | 18| Rl VS KHT | Zix |17 |exre—= vS BRE| A% | 16| FLEB VS 75v5o7| Hi%

1045 |24 AL vS #JIB| 5% | 23| FB VS 7o70—7| Hak |22 #IIA VS D4 X[ HEx

11:20 |25 % vs R | 5% |26|UH—L VS 7ruv7| #3% | 29| H—L4 vS FHE | Bk

11:55 31| fRIU VS mreaoe| H|EL |32 |7r7eR2 VS REEEF| HE% | 35(v=vvrr VS AL | HEZ

12:30 |39 |#wE®H vs FHAR | L% |40|v~nszx vs KBET | 5% |41 | —L4L vs ERIFE| L%

13:05 45| &R vS mEHA| L% |46 | HEEA VS BaEE| Bk |47 |vovve VS 7oro—T| H4EK

13:40 |49 ¥ VS UA—L| % |50 EA vs EWE | Hik |53 Rl vs SRIFE| Hxk

14:15 55 [Bttkrze VS 7ATqR%| HE% | 56 |RAEHB VS FLA| H5% |59 Kl vsS 7osn—7| HEZ

1450 | 63 |#WEH VS 75v507 HEK | 64| FEB vS fBET | 5% | 62| 3R VS Travr| HEK

15:25 67| ERIL VS FIEEHB| 5% | 68 |=rrroe VS FREERR| HEZ | 69| &M VS w4 X| HE

HARR |zs AT=ED =1 |B&s AEEEREIL =Y |&8= KEERE =Y

9:00 4| 1BET VS 759507 % | 5 |erro—x vs H—L4| 4% | 6| A vs KET | %%

9:35 10 |EBES VS 4 X| H1% | 11| Foh vS szoovy| HEZ |12 |vav4rs VS #FIIB| X

10:10 [ 15|U~nszx vs FAR | H53Z |13 |E vs UA—L| &5k [14] R vS AEA | HF

10:45 21| EHEA VS HHESHA| 2% | 19| FLA VS 7r7s| 5% | 20 [Breroe VS BIEBRB| %

11:20 |30 2%E vs M | 2% |27|#9EH vS FLEB| Zik |28 &K vs fBHT | 5%

11:55 | 36 |7>70-7 VS vas#ms| & |33| XM VS A | =5 | 34 [FEBA VS MARM =K

12:30 |42 |=w7e—x VS HRE | Z5% |37| PF VS UA—L| ZF |38 BE VS maavr| HFK

13.05 | 48| FH VS vasams| BEx | 43| BRI VS 7avers| BE& | 44| FEA VS HEF| B

13:40 |54 KBT VS mwro-x| HE% | 51| FEB VS &K | #i% |52|75757 VS uRnsz| Hi%

1415 | 60| #)IIB VS T | 5% | 57| #IIA VS EEHA| 3% |58 |V10X vS HEEA| HEk

14:50 61| % VS {EA | Hx |65|Y—L VS KHET | 245% |66| EE vs A | X%

15:25 | 70| #NIA vs mazm| 2% | 71|vere vs BIIB| % | 72| Rl VS vastms| LI




